
Mr Steve is slim and short. He has got blond 
hair and blue eyes. Mrs Helen, his wife is tall and 
slim. She’s got black hair and blue eyes. They’ve 
got two sons, but they haven’t got a daughter. Their 
children Tim and Dan are good pupils. They have 
their father’s hair. Tim’s slim and tall, but Dan is 
short and has brown eyes. Tim has got brown eyes, 
too. They haven’t their parent’s eyes. 
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1) Write « true » or « false ». 
 

Mr Steve and his wife have got two daughters.  
Tim and Dan are good pupils.  

 
2)  Tick (х) the right answer. 
 blond hair black hair  brown eyes blue eyes 
Tim     
3) Listen and colour the eyes and the hair. 
 

 

 
 

 
Dan Mrs Helen 

 
1) Look, count and complete. 

                                                                                
On my …………..…… there are…………………………………………… 
 
2) Look, colour and write a sentence. 
 
 
………………………………..………………… 
………………………………..………………… 
………………………………..………………… 

 
 


